(017222 @ppP ECO 75 UHHEA1 K Flanged H-Model Linear Guides

EGH-F, EGH-FL series qee@ (MZRKR

W l4Mxa EGH-F : RAVE—K&A4T N L
| - | : EGH-FL : >4 8147 - 5 ]
(i 1) ¢D SOl L e
- ~ . EPH O L
HlF S i i - S
' fi ! —] = — ]
h | [ —
¢d HJI_H ( N
Ho G L P | nXP ‘ (G)
Lomax
M My
) el T
# ! EGH-F, MEGH-F, EGH-FL, MEGH-FL> ) —XsFi&%&
bl i HHE~TE N 7y v sk r - sk TV — A=y TIEE | FERERWE | BUFEE— X ("7 VT L=

= #e Al ff 45 M| H [Ho| To | W | L | w ¢ |Li| F |[Mx0| S| T | h | P
EGH15F | MEGH15F | 24 | 3.3 |16 47 | 586| 38| 30 | 40.2]20.7| M5x7 | m4 | 15 |13 60

Eg:;g;_ mgg::gil_ 30 | 45 |215| 63 ;gi 53 | 40 j:: 25.5 | M6X85| M5 | 20 |16.3| 60
cozsr [ WEGH2sFL| | 50| 20| 1 Toig| 0| 15 [y 02| Mx96| w6 | 2 102 o0
:g::g; m:g::g; 42 |7 |31 | % 123? 72 | 52 122? 35 |M10x115| M8 | 28 |22.8 | 80
:g::g; mgg:ggil_ 48 | 75 (33 | 100 1;2 82| 62 1222 40.5 [M10x135| M8 | 34 |26 | 80

EGH45FL | MEGH45FL | 60 | 89 | 37.5| 120 [1740| 100 | 80 |139 |51.1 [MI12X155| M10 | 45 |31.1 | 105

RIFEL-IRE

s 7 %2 — v
l(I)O 5(|)0 10|00 15|00 20‘00
EGH15F 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
MEGH15F Tttt
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH20F 160 280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
MEGH20F —————t——————
220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
EGH25F 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900
MEGH25F —
280 400 520 640 760 880 1000 1120 1240 1360 1480 1600 1720 1840 1960
EGH30F 20 440 600 760 920 1080 1240 1400 1560 1720 1880
T T T T T T T T T T T T T T T T T T T T T T
MEGH30F 360 520 680 840 1000 1160 1320 1480 1640 1800 1960
EGH35F 20 440 600 760 920 1080 1240 1400 1560 1720 1880
I I I I I I I I I I I I I I I I I I I I I I
MEGH35F 360 520 680 840 1000 1160 1320 1480 1640 1800 1960
EGH45FL 570 780 990 1200 1410 1620 1830
T T T T T T T T T T T T T T
MEGH45FL 675 885 1095 1305 1515 1725 1935

* [HEEIEE . RT7YLY, L—LICEREBIDLMEEELTEYET.

FEES | EGH30F —CG —2 x1400
B E _] L —[ L L—IVR&(Lo)
7'1

% L= KICERTEINTIVIH
[ M-F5$EE! | —
. mae ZES)—2 || HG | ®eIU—Z |
CG s)—oH)—2 || FG | &&TU—R |
244 VG HEJU=R  [XT—RDOHERPISE

C Co Mx My Mz B H&
G Dxdxf |Lomax| HUfif/< t2 N (kN) | (kN) [(kN'm)|(kN'm)|(kN'm)| (kg) | (kg/m)

20 7.5X4.5X5.5 | 4000 | M4X0.7 5.5 (6) 994 | 1446 | 0.07 | 0.05 | 0.05 0.21 1.28
20 9.5%6 X85 | 4000 M6X 1 71 (13) 1544 | 2131 | 0.22 | 0.18 | 0.18 0.40 2.15
i i i 21.62 | 3443 | 036 | 0.46 | 0.46 0.61 2.15
21.27 | 2951 | 0.35 | 0.31 0.30 0.57 2.88

20 11 X7 X9 4000 M6 X1 10.2 (13)
28.27 | 4428 | 053 | 0.70 | 0.68 0.89 2.88

31.38 | 4249 | 059 | 0.49 | 0.48 1.10 4.45

20 | 14 x9 x12 | 4000 | M6x1 | 10 12
(12) 41.70 | 63.75| 0.89 | 1.12 | 1.10 1.66 4.45
20 14 x9 X12 | 4000 | M6x1 115 (12) 4360 | 5783 | 094 | 0.74 | 072 1.50 6.25
' 57.95 | 86.76 | 1.41 | 1.69 | 1.64 2.54 6.25
225| 20 X14X17 | 4000 [M8x%1.25| 14.4 | (11) | 77.04 [113.33 | 3.18 | 3.70 | 3.66 3.42 9.60
BAHT mm
& S L—
25|00 30|00 35|00 40|00 BREX
‘ ZQBO ‘ 2290 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 3q40 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090
I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I I 1 4000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
2080 2zoo 2320 2440 zsao 2680 zaoo 2920 3o4o 3160 3280 3400 3520 3640 3760 3880 4ooo
4000
2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
%029 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31‘00 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 3790 ‘ 38‘20 ‘ 39‘40 ‘
I I I I I I I I I I I I I I I I I I I I I I I I I I 1 1 1 I I I I 1 4000
2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
——— —— — 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2q40 ‘ 2290 ‘ 23‘60 ‘ 25‘20 ‘ 26‘80 ‘ 28‘40 ‘ 3090 ‘ 31‘60 ‘ 33‘20 ‘ 34‘80 ‘ 36‘40 ‘ 3800 ‘ 3960
I I I I I I I I I I I I I I I I I I I I I I \ 4000
2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
L L L L L L L L L L L L L L L L L L 4000
T T T T T T T T T T T T T T T T T T
2145 2355 2565 2775 2985 3195 3405 3615 3825 4000

245



